
 

1

1

2233

4

4 5

6
7

8

9

9

10
11

12 13

14

15

16

17

www.palfinger.com

PK 16001 K0701.01000-A

08/2009

Extension boom 1 + piping

Crane with one hydraulic extension boom



www.palfinger.com

PK 16001 K 0701.01000-A

08/2009

Extension boom 1 + piping

1 EV5144A 1                       Load holding valve
2 ES1159 2 M 8x80 DIN 912        Screw
2 ES1160 2 M 8x90 DIN 912Screw
3 HBS1020A 2 l=23 mm               Distance washer
3 HBS 906 2 l=27 mmDistance washer
4 EA 074 3 GE 16S R1/2"EDFitting
5 EA 183 1 GE 12S R1/2"ED       Fitting

6 HLR14918 1 D 16Pipe
7 HLR14917 1 D 12Pipe
8 S205T51-A 1 260x138 mmBoom extension-1
9 HF 575A 2 Guide 2 mm                  
9 HF 576A 2 Guide 4 mm                  
9 HF 577A 2 Guide 5 mm                  
9 HF 578A 2 Guide 6 mm                  
9 HF 608A 2 Guide 1,5 mm                
9 HF 727A 2 Guide 7 mm                  
9 HIA 130A 2 Guide 3 mm                  
10 ES 184 2 M 10x50 DIN 912Screw

11 HBS1020A 2 l=23 mm               Distance washer
12 EK 007 2 D 10.5 DIN 125   Washer
13 EM 021 2 M 10 VZ DIN 985          Nut
14 UP2075B 1 Cr                    Extension boom cylinder

see page 0701.01001-A
15 EK 176 2 d021xD037 DIN 6916   Washer

16 HI 704 1                       Pin
17 EQ 218 1 D 6x30 DIN 1481       Winding pin

Description DimensionSpare partNo. Qty.


	INDEX   S205-EK-A 
	 EN 
	0701       
	0701.01000-A     Extension boom 1 + piping

	AB001       Remote control
	Download




	1_6307: 
	1_6308: 
	2_6309: 
	2_6310: 
	3_6311: 
	3_6312: 
	4_6313: 
	4_6314: 
	5_6315: 
	6_6316: 
	7_6317: 
	8_6318: 
	9_6319: 
	9_6320: 
	10_6321: 
	11_6322: 
	12_6323: 
	13_6324: 
	14_6325: 
	15_6326: 
	16_6327: 
	17_6328: 
	pos_6329: 
	pos_6330: 
	pos_6331: 
	pos_6332: 
	pos_6333: 
	pos_6334: 
	pos_6335: 
	pos_6336: 
	pos_6337: 
	pos_6338: 
	pos_6339: 
	pos_6340: 
	pos_6341: 
	pos_6342: 
	pos_6343: 
	pos_6344: 
	pos_6345: 
	pos_6346: 
	pos_6347: 
	pos_6348: 
	pos_6349: 
	pos_6350: 
	pos_6351: 
	pos_6352: 
	pos_6353: 


